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#include <stdio.h>

int main(){
printf("Hello,world!\n"); /* Hello, world!% 3 7~*/

return O;

}
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#include <stdio.h>
#define M 3 /* 3 DI EEZHIETMEZEZ HIVD **/
double waru(int);
int main(){

int n;

printf("n+M TR 7= n &2 A ST L TEE 0D, \nY);

scanf("%d", &n);

printf("%d+M (Z%f T3, \n",n, waru(n));

return O;
}
double waru(int a){

double m;

m = (double)a/M;

return m;
}
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}

int sum(int a, int b){
intn;
n =atb;
return n

}
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#include <stdio.h> int sum(int x){

int sum(int);

int main(){
int n;
n=sum(10); printf("#%d\n",gokei);
n=sum(20); printf("7+%d\n",gokei);
n=sum(30); printf("51-%d\n",gokei);
return O;
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